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商
しょう

が 2 けたになる

あまりのある わり算 40 問

わ り 算（答え）

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4 1 ÷ 3  = 1 3 … 2 7 8 ÷ 5  = 1 5 … 3

5 8 ÷ 3  = 1 9 … 1 6 6 ÷ 4  = 1 6 … 2

2 3 ÷ 2  = 1 1 … 1 8 1 ÷ 8  = 1 0 … 1

3 7 ÷ 3  = 1 2 … 1 9 4 ÷ 7  = 1 3 … 3

6 4 ÷ 6  = 1 0 … 4 2 5 ÷ 2  = 1 2 … 1

8 2 ÷ 3  = 2 7 … 1 3 1 ÷ 2  = 1 5 … 1

7 7 ÷ 2  = 3 8 … 1 4 1 ÷ 4  = 1 0 … 1

9 7 ÷ 3  = 3 2 … 1 7 3 ÷ 7  = 1 0 … 3

3 7 ÷ 2  = 1 8 … 1 6 7 ÷ 3  = 2 2 … 1

4 3 ÷ 2  = 2 1 … 1 5 7 ÷ 5  = 1 1 … 2

2 7 ÷ 2  = 1 3 … 1 8 2 ÷ 6  = 1 3 … 4

5 7 ÷ 4  = 1 4 … 1 9 2 ÷ 9  = 1 0 … 2

7 2 ÷ 7  = 1 0 … 2 2 9 ÷ 2  = 1 4 … 1

8 7 ÷ 2  = 4 3 … 1 3 8 ÷ 3  = 1 2 … 2

6 2 ÷ 4  = 1 5 … 2 4 2 ÷ 4  = 1 0 … 2

9 1 ÷ 3  = 3 0 … 1 6 6 ÷ 5  = 1 3 … 1

2 1 ÷ 2  = 1 0 … 1 7 3 ÷ 2  = 3 6 … 1

3 1 ÷ 3  = 1 0 … 1 5 0 ÷ 3  = 1 6 … 2

4 9 ÷ 3  = 1 6 … 1 8 3 ÷ 7  = 1 1 … 6

5 5 ÷ 4  = 1 3 … 3 9 7 ÷ 9  = 1 0 … 7
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商
しょう

が 2 けたになる

あまりのある わり算 40 問

わ り 算（答え）

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 4 ÷ 3  = 1 1 … 1 9 5 ÷ 3  = 3 1 … 2

4 9 ÷ 4  = 1 2 … 1 3 5 ÷ 3  = 1 1 … 2

6 7 ÷ 5  = 1 3 … 2 4 6 ÷ 4  = 1 1 … 2

5 0 ÷ 4  = 1 2 … 2 5 5 ÷ 2  = 2 7 … 1

7 4 ÷ 5  = 1 4 … 4 6 9 ÷ 4  = 1 7 … 1

8 1 ÷ 7  = 1 1 … 4 7 1 ÷ 4  = 1 7 … 3

9 1 ÷ 2  = 4 5 … 1 8 2 ÷ 4  = 2 0 … 2

3 9 ÷ 2  = 1 9 … 1 9 0 ÷ 4  = 2 2 … 2

4 7 ÷ 3  = 1 5 … 2 3 5 ÷ 2  = 1 7 … 1

5 3 ÷ 5  = 1 0 … 3 4 5 ÷ 4  = 1 1 … 1

7 5 ÷ 4  = 1 8 … 3 5 9 ÷ 2  = 2 9 … 1

6 9 ÷ 6  = 1 1 … 3 6 1 ÷ 5  = 1 2 … 1

8 5 ÷ 4  = 2 1 … 1 7 3 ÷ 6  = 1 2 … 1

9 3 ÷ 2  = 4 6 … 1 8 3 ÷ 4  = 2 0 … 3

3 3 ÷ 2  = 1 6 … 1 9 8 ÷ 6  = 1 6 … 2

4 1 ÷ 2  = 2 0 … 1 3 2 ÷ 3  = 1 0 … 2

5 2 ÷ 5  = 1 0 … 2 4 7 ÷ 4  = 1 1 … 3

6 1 ÷ 2  = 3 0 … 1 5 1 ÷ 5  = 1 0 … 1

7 3 ÷ 3  = 2 4 … 1 6 3 ÷ 2  = 3 1 … 1

8 5 ÷ 8  = 1 0 … 5 7 0 ÷ 3  = 2 3 … 1
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商
しょう

が 2 けたになる

あまりのある わり算 40 問

わ り 算（答え）

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 1 ÷ 4  = 1 2 … 3 9 9 ÷ 8  = 1 2 … 3

2 7 ÷ 2  = 1 3 … 1 8 2 ÷ 5  = 1 6 … 2

8 3 ÷ 2  = 4 1 … 1 4 9 ÷ 2  = 2 4 … 1

3 3 ÷ 2  = 1 6 … 1 7 2 ÷ 5  = 1 4 … 2

6 8 ÷ 5  = 1 3 … 3 2 3 ÷ 2  = 1 1 … 1

4 3 ÷ 4  = 1 0 … 3 3 4 ÷ 3  = 1 1 … 1

9 7 ÷ 8  = 1 2 … 1 5 9 ÷ 2  = 2 9 … 1

7 7 ÷ 2  = 3 8 … 1 4 1 ÷ 3  = 1 3 … 2

2 1 ÷ 2  = 1 0 … 1 9 1 ÷ 3  = 3 0 … 1

5 2 ÷ 5  = 1 0 … 2 6 7 ÷ 5  = 1 3 … 2

3 7 ÷ 2  = 1 8 … 1 8 7 ÷ 5  = 1 7 … 2

6 8 ÷ 6  = 1 1 … 2 7 6 ÷ 6  = 1 2 … 4

9 7 ÷ 3  = 3 2 … 1 2 9 ÷ 2  = 1 4 … 1

8 8 ÷ 3  = 2 9 … 1 3 1 ÷ 2  = 1 5 … 1

4 5 ÷ 4  = 1 1 … 1 4 7 ÷ 4  = 1 1 … 3

7 5 ÷ 7  = 1 0 … 5 5 5 ÷ 4  = 1 3 … 3

2 5 ÷ 2  = 1 2 … 1 6 6 ÷ 4  = 1 6 … 2

3 2 ÷ 3  = 1 0 … 2 9 2 ÷ 7  = 1 3 … 1

5 9 ÷ 5  = 1 1 … 4 8 7 ÷ 4  = 2 1 … 3

6 7 ÷ 2  = 3 3 … 1 7 1 ÷ 5  = 1 4 … 1
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商
しょう

が 2 けたになる

あまりのある わり算 40 問

わ り 算（答え）

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 5 ÷ 2  = 1 7 … 1 7 2 ÷ 7  = 1 0 … 2

4 3 ÷ 3  = 1 4 … 1 3 7 ÷ 3  = 1 2 … 1

5 0 ÷ 3  = 1 6 … 2 4 7 ÷ 3  = 1 5 … 2

6 3 ÷ 6  = 1 0 … 3 5 9 ÷ 4  = 1 4 … 3

8 1 ÷ 2  = 4 0 … 1 6 3 ÷ 4  = 1 5 … 3

9 7 ÷ 4  = 2 4 … 1 8 2 ÷ 7  = 1 1 … 5

7 3 ÷ 7  = 1 0 … 3 9 5 ÷ 2  = 4 7 … 1

3 1 ÷ 3  = 1 0 … 1 7 6 ÷ 3  = 2 5 … 1

4 5 ÷ 2  = 2 2 … 1 3 5 ÷ 3  = 1 1 … 2

5 7 ÷ 4  = 1 4 … 1 4 9 ÷ 3  = 1 6 … 1

6 2 ÷ 6  = 1 0 … 2 5 4 ÷ 4  = 1 3 … 2

8 1 ÷ 5  = 1 6 … 1 6 2 ÷ 3  = 2 0 … 2

9 4 ÷ 3  = 3 1 … 1 8 3 ÷ 4  = 2 0 … 3

7 5 ÷ 6  = 1 2 … 3 9 2 ÷ 8  = 1 1 … 4

3 9 ÷ 2  = 1 9 … 1 7 4 ÷ 4  = 1 8 … 2

4 6 ÷ 3  = 1 5 … 1 3 8 ÷ 3  = 1 2 … 2

5 1 ÷ 2  = 2 5 … 1 4 2 ÷ 4  = 1 0 … 2

6 6 ÷ 5  = 1 3 … 1 5 6 ÷ 5  = 1 1 … 1

9 8 ÷ 3  = 3 2 … 2 6 5 ÷ 2  = 3 2 … 1

8 6 ÷ 6  = 1 4 … 2 9 8 ÷ 9  = 1 0 … 8


